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Critical Bending DimensionsCritical Bending Dimensions
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where T =  Tensile force in anchor rod

NT =  Distance between anchor rod
and column center

Np =  Bearing Length ( < N )
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and plate edge
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where T =  Tensile force in anchor rod

NT =  Distance between anchor rod
and column center

Np =  Bearing Length ( < N )

N’ =  Distance between anchor rod
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R =  Resultant force from bearing pressure
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BiBi--Axial Bending Base PlateAxial Bending Base Plate
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BiBi--Axial Bending Base PlateAxial Bending Base Plate
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